O

~

Wall Application

)

Interior Finish

Insulation

Wall Stud

1/2" Plywood (min.)

Water and Air Resisitve Barrier

Castle Top Panel
(hem panel back onto joggle cleat)

Counterflashing

#10-13 x 1" Wafer Head Screw
Joggle Cleat

Base Trim

Structural

3"

1/2||
ot

-~ "

92°

HCAXXX-Base Trim

1/2||

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

DWG. NO.

DR
KRK

PATE 9/2/2014

APP

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE X_X




Coping System

Hex Head Fastener

Castle Top Panel

Water and Air Resistive Barrier

#10-13 x 1" Wafer Head Screw

1/2" Plywood (min.)

Wall Stud

Insulation

.
-

Wall Application

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
Mesa AZ
480-558-7210

TITLE . .
Castle Top Coping Detail
pHe e " xRk |""'8/29/2014
APP DATE
MATERIAL
DESCRIPTION OF REVISION SH. SIZE B SCALE X:X




Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation
Interior Finish
Wall Stud
::::::7:::::::::::::::::féi:::::::::::::%::::::::::::::::::: — _ " " ”"”" T
:ii:j:::i:(’::::ii:::::ii7 Z:::ii:::::ii:eg ::Ei:::::ii:::::::: - - - -
Castel Top Panel/
(fold panel up at pocket) 11/8"
#10-13 x 1" Wafer Head Screw 1/4" ﬁ
J Channel
( 4
Backer Rod and Appropriate Sealant *
(by others)
-~ 7/8" =
HCAXXX-J Channel
Wall Application

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

DWG. NO. DR KRK DATES/29/2014

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




o

Iwwm

Wall Application

Interior Finish

Insulation

Wall Stud

1/2" Plywood (min.)

Water and Air Resistive Barrier

Castle Top Panel
(hem panel back onto joggle cleat)

Membrane Strip over Joggle Cleat and Fastener

#10-13 x 1" Wafer Head Screw

Joggle Cleat

Head Trim

Jamb Trim

Backer Rod and Appropriate Sealant
(by others)

Window Unit

1/4"
}
3/4"
N /
b
3/4"
.

HCA975-Joggle Cleat

11/8"

3"

T
92°

-

jﬁt

1.k

1/2"

HCAXXX-Head Trim

X HQL

HCA671-Jamb Trim

1/2"

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

DWG. NO.

DR
KRK

PRt 129/2014

APP

MATERIAL

REV.

NO. DATE

DESCRIPTION OF REVISION BY | APP

DATE

SH. SIZE B

SCRE 3.y




\ Castle Top Panel
(fold panel up at pocket)

} #10-13 x 1" Wafer Head Screw

Inside Corner Post

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation
e 1"’
4"
:: i Wa” StUd ?
i 11/2"
Interior Finish 27/8"
o *
y H‘

HCAXXX-Inside Corner Post

Wall Application

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

DWG. NO. DR KRK DATE8/29/2014

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Wall Stud
Interior Finish

Insulation

1/2" Plywood (min.)
/Water and Air Resistive Barrier

Window Unit/

Angle Trim 33/4"
Backer Rod and Appropriate Sealant

(by others) — 5/8" ﬂ
Castle Top Panel
(fold panel up at pocket) ‘
. . #10-13 x 1" Wafer Head Screw N
Wall Application Butyl Tape - " .
J Channel # ~—1/4

l HCAXXX-Angle Trim
é}
X
e /8" . ATAS INTERNATIONAL, INC
Allentown PA

610-395-8445
Mesa AZ
480-558-7210

HCAXXX-J Channel

TITLE

DWG. NO. DR KRK DATE8/29/2014
APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Interior Finish

Insulation

1/2" Plywood (min.)

Water and Air Resistive Barrier

Wall Stud

Castle Top Panel 27/8"
(fold panel up at pocket)

#10-13 x 1" Wafer Head Screw

0N, N

|
i ~1" -
ol
= Outside Corner Post
4 : A /{ | /
55—;—;;;;—;;ii;;;;;f—;;;;gij;;—;;;;if;?f;;;;;;—;lj

HCAXXX-Outside Corner Post

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE . .
Castle Top Outside Corner Detail
DWG. NO. DR KRK DATE 9/2/2014
APP DATE
MATERIAL
?‘Eg DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Window Unit

#10-13 x 1" Wafer Head Screw

Backer Rod and Appropriate Sealant
(by others)

Hex Head Fastener

Window Sill Trim

Castle Top Panel

Water and Air Resistive Barrier
1/2" Plywood (min.)

Interior Finish

Insulation

Wall Stud

N
\ﬂ

NN
AL

1

1

I

1
ray

Wall Application

2"

-

4"

—

175°

|
1/2"
|

HCAXXX-Window Sill Trim

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

Castle Top Window Sill Detail

DWG. NO.

DR
KRK

PATE 9/2/2014

APP

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCRE 3.y




DETAIL B

ATAS INTERNATIONAL, INC
Allentown PA

SECTION A—A 1 \\ 610-395-8445

Mesa AZ
480-558-7210

TITLE

CastleTop Panel Assembly Detail

DWG. NO. DATE
KRK 7/2/2014

APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




Pre Punched Holes

N

/

V4

N

Alignment Mark

/\
Ny,

O

//

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

TITLE

DWG. NO.

DR
KRK

PATE 2 19/2014

APP

NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE X_X




